(0 @) (rad)

102

=
<

=
<

a(d cot(d))

o [
T X
o r
I btk 0 8 A A A0 00004 A SRR
095:1 '2 .
10 1 TPlpOT (PCA 1 beamiinéf

£
e
o>
=2
o
107t
.910\—1%_ . ......! . .......! L
I r :
(4 [
G| RRCREREEEE 0 R A1 8008030 (RS e
0.95'_1 :2 .
10 ! TPlp?T (PCA tjbobeamliné'f)

_9100%_
g X
04 r
I iRhth 0 8 A A A0 80000 A SRR
095:1 '2 .
10 1 TPlpOT (PCA t%obeamliné[f)
—s=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN2
—e— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__all2
= 1g
5
>
=]
=2
o}
107
1072
01053 ] MR B
5 | : :
4 [ :
| RREEREEEE 5 0 0 0 0 0 8 o 0o oo AECEECREEE SERTTETTEILE
0.95L T ; > 5
10° 1 10 0 .
TPp, (PCA tlo beamllng'f)
1r

o p/p.)

103} il =
P RRE a annn s a0 o CPRPRPRPT-PRRPRPRPIPS
0.95L H
1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


